



Determine which number correctly answers both equations.

Answers

1) _____ + 6 = 16
16 - 6 = _____

2) _____ + 1 = 10
10 - 1 = _____

3) _____ + 4 = 18
18 - 4 = _____

4) _____ + 6 = 14
14 - 6 = _____

5) _____ + 2 = 20
20 - 2 = _____

6) _____ + 6 = 18
18 - 6 = _____

7) _____ + 1 = 14
14 - 1 = _____

8) _____ + 1 = 20
20 - 1 = _____

9) _____ + 1 = 11
11 - 1 = _____

10) _____ + 7 = 9
9 - 7 = _____

11) _____ + 2 = 14
14 - 2 = _____

12) _____ + 1 = 18
18 - 1 = _____

13) _____ + 1 = 3
3 - 1 = _____

14) _____ + 8 = 13
13 - 8 = _____

15) _____ + 2 = 16
16 - 2 = _____

16) _____ + 1 = 17
17 - 1 = _____

17) _____ + 8 = 20
20 - 8 = _____

18) _____ + 5 = 10
10 - 5 = _____

19) _____ + 16 = 18
18 - 16 = _____

20) _____ + 2 = 19
19 - 2 = _____

1. _____
2. _____
3. _____
4. _____
5. _____
6. _____
7. _____
8. _____
9. _____
10. _____
11. _____
12. _____
13. _____
14. _____
15. _____
16. _____
17. _____
18. _____
19. _____
20. _____



Determine which number correctly answers both equations.

$$1) \quad \underline{10} + 6 = 16$$

$$16 - 6 = \underline{10}$$

$$2) \quad \underline{9} + 1 = 10$$

$$10 - 1 = \underline{9}$$

$$3) \quad \underline{14} + 4 = 18$$

$$18 - 4 = \underline{14}$$

$$4) \quad \underline{8} + 6 = 14$$

$$14 - 6 = \underline{8}$$

$$5) \quad \underline{18} + 2 = 20$$

$$20 - 2 = \underline{18}$$

$$6) \quad \underline{12} + 6 = 18$$

$$18 - 6 = \underline{12}$$

$$7) \quad \underline{13} + 1 = 14$$

$$14 - 1 = \underline{13}$$

$$8) \quad \underline{19} + 1 = 20$$

$$20 - 1 = \underline{19}$$

$$9) \quad \underline{10} + 1 = 11$$

$$11 - 1 = \underline{10}$$

$$10) \quad \underline{2} + 7 = 9$$

$$9 - 7 = \underline{2}$$

$$11) \quad \underline{12} + 2 = 14$$

$$14 - 2 = \underline{12}$$

$$12) \quad \underline{17} + 1 = 18$$

$$18 - 1 = \underline{17}$$

$$13) \quad \underline{2} + 1 = 3$$

$$3 - 1 = \underline{2}$$

$$14) \quad \underline{5} + 8 = 13$$

$$13 - 8 = \underline{5}$$

$$15) \quad \underline{14} + 2 = 16$$

$$16 - 2 = \underline{14}$$

$$16) \quad \underline{16} + 1 = 17$$

$$17 - 1 = \underline{16}$$

$$17) \quad \underline{12} + 8 = 20$$

$$20 - 8 = \underline{12}$$

$$18) \quad \underline{5} + 5 = 10$$

$$10 - 5 = \underline{5}$$

$$19) \quad \underline{2} + 16 = 18$$

$$18 - 16 = \underline{2}$$

$$20) \quad \underline{17} + 2 = 19$$

$$19 - 2 = \underline{17}$$

Answers1. 102. 93. 144. 85. 186. 127. 138. 199. 1010. 211. 1212. 1713. 214. 515. 1416. 1617. 1218. 519. 220. 17